BEFH Ra—VYREAN va—v Y=Y IR =T 4 AT yEE
Ja—=x Yy T RA Fa—ar vav
v

~NIHY T RYT 7 6.5 6.5 4 3.5 4 4.5 36
FTHhYI oY 5.5 5.5 4.5 3.5 3 3 2.5 27.5
FoN THRT 5 4 3.5 3 2.5 3 2 23
EFRFR T 5.5 5.5 6 2 2 2.5 3 26.5
FAHI T WAY 7.5 7 6 3 3 3 4 33.5
FJay <y 4 4 3.5 2 2.5 2 2 20
T4 v 3 4.5 4.5 1.5 2 2.5 2.5 20.5
SN Hren 4 3.5 3 1.5 2 2 1.5 17.5
FhaE HIY 5.5 6 5 4.5 3.5 3 2.5 30
TAvY~ Favk 3 3 3 1.5 1.5 1.5 1.5 15
Yavlv #7=3 7 6.5 7 4 3.5 4 3.5 35.5
LTI HATA 5 6.5 5 3 3 3 3 28.5
Lo~y TYUY 5.5 4.5 4 2 2 2.5 2 22.5

BT Ra—VYREAN va—~v )=y ZIIR NA—T 4 AT LoEE

Ja—= YV XA Fa—va v vav
b

IvEh VavX 3.5 3 2.5 1.5 2.5 2 1.5 16.5
4% Kap hven 4 5 4.5 3 3 2.5 2 24
AU IHF 4 3.5 5 2.5 2.5 2 3 22.5
A/ vx ZI= 7.5 6 9 4 4 4.5 4 39
TIX RETF 6 4.5 5 2.5 2.5 2 2 24.5
FhFR Vav 4.5 4.5 3.5 3 2.5 2 1.5 21.5
YAy TarATFry 6 4.5 5 2.5 2.5 4 3.5 28
NEAH IYIY 5.5 5 5.5 3 3 3 3 28
T A7 5 4.5 4.5 2.5 2.5 2.5 3 24.5
VY ok 4.5 4.5 4.5 3 2.5 2 2 23
LTHX T 3.5 4 4.5 2.5 2 2 1.5 20
Z=%b TV/U 7.5 5.5 5.5 4 3 2.5 2.5 30.5




